Exercise 8.1
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(i) Determine the quadrant of
coordinate plane in which the
following points lies
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Draw the graph of each of the following
1e.
x=2
The table for the points of equation
x =2 is as under
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(i) x=-3 (iv) y=3
x R 3 31313 3
The table for the points of equation ‘ il 3 | 2| -1]0]1
Y \
x = -3 is as under 17
3[3[3[3[3]3]-3 AU LIS
23) | B | 23)
30 -2 -1 0 1 2 3 1
<~6 S 4 p 2 4 1“ 2
LA X 5
s .
i’: ; v
< ;sf’-q 2 -110 BERER
B0 aN X W) =0
dad) 3 Bl 3 2| -1]0]1
v \ @ o0 | 0o | 0 [0]O
’: h { A
v 1.
@0 1[‘0,2) @0
G 32 AL 1 2]
(i) y=-1 X | (o[ dw|©
Al [ a1t ]-a]-1]- 4
3l2]alol1 23 i /
; (vi) x=0
. I 0 |0
X vy ERE
15 5 5 6’
X |G \ X
R X3 2 >
):’ 1 : 0. (
v




X y = 3x (ix) 5
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(viii) —y=2x 707
Multiply both sides by (-)
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(_ _2) 1_os
y=2x 2
2 | 2(2)-4 A
T =2 %
0 | —2(0)=0 >
1 | 2()==2 :
2 | 2(2)=4 2| 4.
11 .

4 3 2 -

T

L

L
W L U =Y"
[=a)
1
wn

._
}

0)

A

[=2)

1# 4]

b §

Y

[*>)

T~

1

—

s -
- =

o

‘?\ n N U o =

5

1N
Ay =J

\") 4
=)

‘h o W O =
A/
T

L")

Ll




(x) 3y =5x
5.
Y 3
X 5
y_gx
-6
i><— *=-10
Z
-3
%X;‘fz—5
0
E: x0=20
3
3 5
—xF=5
3
6 5 5
—xg*=10
A
i
SEREA
J /
Ewamn
1/
i,
‘-1-09-8-76 i 2-# IIP
X /. 37
/:
¥I 4
\/ ;
/-
'v
(xi) 2x—-y=0

2x=yor y=2x
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Q.3 _ Are the following lines (i) parallel

to x — axis (ii) parallel to y —axis

Solution:

(i) 2x—-1=3
2x=3+1
2x=4

4
X=—
2

x =2 it is a line parallel to y-axis

(ii) x+2=-1

x=-1-2

x=-3 it is a line parallel to
Y —axis
(i) 2y+3=2

2y=2-3

2y=-1



y:7it is a line parallel

tox —axis

(iv) x+y=0
x=-y It 1s neither parallel to
X —axis nor y—axis

v) 2x-2y =0
2x=2y
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y=x
It 1s neither parallel to x —axis nor
Y —axis
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Q.4 Find the value of m and ¢ of the
following lines by expressing
them in the form y = mx +¢

Solution:

(a) 2x+3y-1=0

3y=-2x+1
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(b) x—2y=-2
X+2=2y
x+2
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(¢) 3x+y—-1=0

y=1-3x

or

y=-3x+1

m=-3 c=1

(d) 2x—y =17

(e) 3-2x+y=0
y=2x-3
m=2 c=-3

() 2x=y+3

2x-3=y

Or

y=2x-3

m=2 c=-3

Q.5 Verify whether the following
point lies on the line 2x-y + 1 =0
or not

Solution:
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2x—y+1=0

2(2)-3+1=0

4-34+1=0
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. The point does not lie on the
line

(i) (0,0

2x—y +1=0

2(0)-0+1=0

0-0+1=0

10

. The point does not lie on the
line
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2x—y+1=0

2(-1)-1+1=0

—2-1+1=0
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. The point does not lie on the
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2x-y+1=0
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4-541=0
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.. It lies on the line
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2x—y+1=0
2(5)—3+1:O
10-3+1=0
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.. It does not lie on the line



